	)	E	Е	
г	V		г	•

CS/ LIP23007148/Uny3
ASSIGNMENT

From: Date:	Veh No: 52 07 8 K3G Yr Regn: 24/07/17
Estimated Cost:	Type: M.Car / M.Cycle / Bus / Van / Lorry / Taxi / Prime Mover /
OD TP WS / TP RES / OD RES / EVA / INV / MV	Truck / Trailer or (A/
To Inspect Vehicle No: 524 78439	Make: Hyundai Elomtre c.c 1891
at Workshop m/s	Colour A/C: Insured / Std / NI / NA
of	Sp.Reading /6/20 4 T/Radio: Insured / Std / NI / NA
Insured: SKC1146K	Eng/No:
Policy No.	C/No: KMHD&41CMJU 516367
Claims No.	Gen. Cond: Good / Fair / Poor / Burnt
Sum Insured: Excess:	Steering: Inorder / Jammed / Leaked / Burnt or
(Client's Record)	Brake: Inorder / Jammed / Leaked / Burnt or
Make of Veh:	Modi: Nil S/Pam / STD A/Rim or
(Policy Condition)  Remark: The veh had commenced its repair at the time of inspection.  Bal. or Market Value:  IDAC Accident Rport:  Consistent?: Yes or No  GIA / PR Seen:  Consistent?: Yes or No  Est. Repairs:  days Res.: Yes or No  Lum Sum:  A Vehicle: IN / Old  Vehicle: IN / Old  CA / REV / REP. / 24 HRS  Date / Time Action / Instruction	TOYO / YOKO or    Front
1/5 \$ 8100 (Red, \$	8221. [2, 50%)
27/07/23 Marcus informed MR Le	se lumn sum \$8100 and 6 days
(red, \$8221.12,	,50%)
Date/Time, File Pass to? : Preli. Report	Days Of Repair: 6
1) : Final Report	Resurvey No. of Trip: Survey Fee:
Date/Time, File Return to?	Transportation:
2) Add F	
5	: Interview (\$ ) Photos
Report Format :	: Tech. Invs (\$ ) Others
Lump Sum / I.B.I: (\$	:Weekend (\$
	TOTAL

## > Back to OneMotoring

**Enquire PARF/COE Rebate for Registered Vehicle** 

Vehicle Owner Particulars	
Owner ID Type:	Singapore NRIC
Owner ID:	009F
Vehicle Details	
Vehicle No.:	SLQ7843G
Vehicle to be Exported:	No
Intended Deregistration Date:	14 Jul 2023
Vehicle Make:	HYUNDAI
Vehicle Model:	ELANTRA AD 1.6 GLS AT
Primary Colour:	Blue
Manufacturing Year:	2017
Engine No.:	G4FGHU629970
Chassis No.:	KMHD841CMJU516367
Maximum Power Output:	93.8 kW (125 bhp)
Open Market Value:	\$12,881.00
Original Registration Date:	24 Jul 2017
First Registration Date:	24 Jul 2017
Transfer Count:	0
Actual ARF Paid: Intended PARF Rebate Details	\$12,881.00 64 40
PARF Eligibility:	Yes
PARF Eligibility Expiry Date:	23 Jul 2027
PARF Rebate Amount: Intended COE Rebate Details	\$9,016.00
COE Expiry Date:	23 Jul 2027
COE Category:	A - Car up to 1600cc & 97kW (130bhp)
COE Period(Years):	10
QP Paid:	\$42,801.00
COE Rebate Amount:	\$17,223.00
Total Rebate Amount:	\$26,239.00

The information contained herein is correct as at 14 Jul 2023

## sgcarmart

New Cars Used Cars Car Loan **Rental Cars** Sell Cars **Products** Directory Insurance Articles Forum Resources

> Post an Advertisement Sell it yourself! Advertise it at just \$68 until it's SOLD!

Low Interest Rate In-House Loan by GV Cars Financing



Flexible Financing . Loan by GV Cars Financing at 3.28% p.a. GV Automobile Centre StarAd



25 vehicles

Post an Ad

Elantra

« Back ( 1 2 ) Next »

Advanced Search

Veh Type

Any

Sort by Date Posted ✓ 20 ✓ results/page Search

Status

Model

Ways of Selling

Depreciation

Reg Date Eng Cap

Any Category

Mileage

Search Selection

Make Elantra

Advertiser Login

Price

2017

Any

Hyundai Elantra 1.6A GLS

\$61,800

\$12,720 /yr

Any

26-Dec-2017 1,591 cc 76,302 km

Sedan Available

Flexible In-House Loan by GV Cars financing at 3.28% P.a. Approval within 24 hours. Add on 2 years warranty on engine and gearbox b... GV Automobile Centre Pte Ltd

Posted: 14-Jul-2023

Available

Hyundai Elantra 1.6A GLS

\$65,000

\$13,960 /yr

28-Sep-2017

69,570 km

Sedan

Available

PREMIUM AD

The Elantra has slowly developed into one of the most underrated cars on the market. Progressively, it has gotten better looking and no...

Carro

Posted: 14-Jul-2023



Hyundai Elantra 1.6A GLS (OPC)

\$54,000

\$11,710 /vr

07-Aug-2017

1.591 cc

1,591 cc

46,000 km

Sedan

Available

The Elantra has slowly developed into one of the most underrated cars on the market. Progressively, it has gotten better looking and no...

Carro

Posted: 14-Jul-2023



Hyundai Elantra 1.6A GLS S

\$62,800

\$13,800 /yr

15-Aug-2017

1,591 cc

89,000 km

Sedan

Available

Popular "S" model with keyless feature, rare 1 ownership, genuine low mileage, pristine condition with service records. Popular sedan wi...

Posted: 12-Jul-2023



#### Hyundai reveals the new Elantra N

The Hyundai Elantra N adds strong, dynamic driving capability and aggressive design elements on top of the sporty standard model. Read this article



Hyundai Elantra 1.6A GLS S

\$61,388

\$13,260 /yr

29-Sep-2017

1.591 cc

62,000 km

Sedan

Available

Posted: 12-Jul-2023



Hyundai Elantra 1.6A GLS S

\$56,800

\$12,860 /yr

13-Jun-2017

1,591 cc

Sedan

Available

Cheapest in the market with guaranteed buyback at \$10,000 at end of COE. Depreciation at \$11,000+ only. High specs s model with ke...

Posted: 12-1ul-2023



Hyundai Elantra 1.6A GLS Elite

\$63,800

\$13,370 /yr

05-Oct-2017

1,591 cc

99,900 km

Available

100% full loan available. Lowest interest rates! We are Sgcarmart premium dealer 2022-23 with 5 stars rating and over 200 positive revi...

Dynamic Motoring

Posted: 09-Jul-2023

Not Author/ 14/7/23

# YEW HOK AUTO SERVICES

522 Bedok North Ave 1, #11-310, Singapore 460522 H/P: 8285 7623 Email: yhlee@outlook.sg

Vehicle number: SLQ7843G

Vehicle Made & Model: HYUNDAI ELANTRA

Qty	List Items (		Amount \$
1	Rear boot lid 3.26 DD	<b>V</b> /	1,783.60
1	Rear boot logo	56.00	_58.80
1	Rear boot emblem "ELANTRA" 🔑	7.0.73	86.90
1	Rear boot emblem "S"		68.90
2	Rear boot lamps - L/R @ 481.60		973.30
2	Rear boot licence lamps @ 48.20		96.40 ×
1	Rear boot inner lock Benf (Tw)	186-40	280.60
1	Rear boot inner trim	4 - 1 -	341.90
1	Rear boot lock striker		45.50 م
1	Rear boot w/strip		181.20
2	Rear boot hinges - L/R @ 151.90		303.80 🛩
2	Rear boot stoppers @ 12.60		25.20 🗶
1	Rear bumper Dif	494.W	581.90
2	Rear bumper reflectors - L/R @ 86.60 CV		173.20
1	Rear bumper difusser		173.20
1	Rear bumper reinforcement		481.90
2	Rear bumper side retainers - L/R @ 89.50		179.00
1	Rear end panel		546.80
1	Rear end panel garnish		181.90
1	Rear exhaust silencer		762.80 ×
1	Rear exhaust insulator		120.60
2	Rear exhaust mountings @ 28.60		57.20 X
1	Rear floor board top weget /1010	366	610.50
1	Rear floor tools board		282.60
1	Rear floor panel		1,260.50 🖈
1	Rear panel undercover - LH 70 - A		191.20
1	Rear fender		1,786.00 🗡
2	Rear fender inner trims - L/R @ 481.90 Que /73/A		963.80
2	Rear fender inner shields - L/R @ 86.90 🗸 🤊		173.80 🗸
1	Rear smart keyless antenna		193.20

Vehicle number: SLQ7843G

Vehicle Made & Model: HYUNDAI ELANTRA

1	Rear	spare wheel retainer lock	11		81.60	
2	Rear	taillamps - L/R @ 664.20	•	1-88.60×2= 119	7. 23 <u>1328</u> .40,	/_
2	Rear	tailamp panels - L/R @ 212	.60 DO	1/2uf	425.20	/
				Sub-total	14,801.40	
				Less 20%	2,960.28	
				Total List	11,841.12	

Specia	Nett	Items
--------	------	-------

	_					
1 set	Rear	boot inner trim clip	nu		45.00	
1 set	Rear	bumper clip	nu		45.00	~
1 set	Rear	no. plate with holder	su		60.00	X
1 set	Rear	reverse sensor	molfectur		280.00	200
1	Rear	reverse camera	nn		450.00	X
				Total Special Nett	880.00	

### Labour charges

To respray undercoating		150.00 ft
To check rear electrical wiring		50.00 20
To remove, refix rear interior trims to assit repair		120.00
To remove, refix rear reverse sensor / camera		80.00
To remove, refix rear exhaust systems	11	100.00 ×
To respray painting and etc		1,500.00 //00
Panel beating, cut, weld remove & replacing above parts		1,600.00 / /0,)
Total Labour		3,600.00

## ESTIMATE PARTS AND LABOUR GRAND TOTAL \$ 16,321.12

LKK Auto Consultants hence notify the Repairer of the following:

- To resurvey before/after spray painting
- To display damaged part(s) during resurvey
- Parts prices are subject to confirmation
- Third party survey is on a "Without Prejudice" basis

Page 2 of 2 illegal modification(s) is allowed

Supplementary item(s) must be resurveyed <u>and</u> is subject to final approval from Insurance Company

Acknowledged by Repairer

Signature

Dates

7-9328.9 205 9-7463.12 5.N-290 10183.12 202 A46.